Subtracting Across Zeros (A)

Find each difference.

8000 5000 6000 1000
- 5195 -476 - 311 -733
9000 2000 7000 1000
- 3700 -1631 - 3371 -850
2000 2000 2000 9000
-1738 - 299 - 499 - 5159
2000 2000 9000 2000
- 1032 - 1489 - 4732 - 1097
2000 8000 6000 6000
-906 - 6982 - 1648 -279
9000 1000 2000 9000
-1192 -70 - 1416 - 4300
7000 2000 9000 1000
- 5673 -1317 - 784 - 863
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Subtracting Across Zeros (A) Answers

Find each difference.

8000 5000 6000
- 5195 -476 - 311
2805 4524 5689
9000 2000 7000
- 3700 -1631 - 3371
5300 369 3629
2000 2000 2000
-1738 - 299 - 499
262 1701 1501
2000 2000 9000
- 1032 - 1489 - 4732
968 511 4268
2000 8000 6000
-906 - 6982 - 1648
1094 1018 4352
9000 1000 2000
-1192 -70 - 1416
7808 930 584
7000 2000 9000
- 5673 -1317 - 784
1327 683 8216
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